ASSURED BY: STOR NEW CS/C112	991918/E9f3
ASS	IGNMENT
From: Date:	Veh No SM4 2922L Yr Regn: 12/12/12
OD TP / WS / IP RES / OD RES / EVA / INV / MY	Type M.Ca) M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover / Truck / Trailer or Make: Astan Nigrifin DBS (Duple c.c 5935)
ut Workshop m/s	Colour Black AC: Insured / Std / NI / NA
Of	Sp. Reading 1279. T/Radio: Insured / Std / NI / NA
insured.	Eng/No:
Policy No DMPCSNW00102512000	CINO: SCFECCAD7CGE03.967
Claims No. SNM20D203546C01	Gen. Cand: Good / Fali) / Poor / Burnt
Sum Insured: Excess:	Steering: Inorday / Jammed / Leaked / Burnt or
(Cliont's Record) Make of Veh:	Brake: Inorde / Jammed / Leaked / Burnt or
MING OI AGU!	Modi: NII / SIRIM / STD A/RIM or
	Tyre Size: F: 245/352R10
(Policy Condition) Remark: The veh had commenced its N/S 1 0/S	R: Li
repair at the time of inspection.	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
Ral. or Market Value; 300K	TOYO / YOKO or B Pitell,
DAC Accident Rport: Consistent? : Yes or No	Fron! Rear
SIA / PR Seen: Consistent? : Yes or No	R/Bal. R/Bal. mm
Est. Repairs: days Res.: Yes or No	D.O.A. 0110/120 DOL 12/10/20
Lum Sum: % 3 Val.: Yes or No	Survey held at British Motor Seinic
CA / REV / REP. / 24 HRS Vehicle: IN / OUT	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
Date: Person Contacted:	The U/C / Chassis frame / Body Structure affected due to collision
Date / Time Action / Instruction	
MV- 1	
5/10/20@10.50am revert to Irene Tay via Merime	
9/10/20@10.47am 2nd revert to Irene Tay via Me	
19/10/20 Submit Uneconomical Total Loss Repo	<u> </u>
ale/True, File Pass W? : Prell. Report D	ays Of Repair:
40/40 T : 4	
ate/Time, File Return to?	
Add Fee:	: Site Insp (\$)s +Rss/
	Interdes. (C
ep→Formei: MER-OD/TL-U	Tech Invs (\$) Others
omp Sun / LC.1; C:	:Westend 15

Estimate

RITISH DIOTOR ERVICES A

Date: Estimate #: 01/10/2020 50234

British Motor Services 56 Loyang Way #02-10 Loyang Enterprise Building 508775

Alistair Hanisha Duff

94871259

Phone Email Web

A.B.N.:

98342601

98342601 Mob contact@britishmotorservices.com.sg www.britishmotorservices.com.sg

201925759W

Rego

SMU2922L

Make/Model

Aston Martin DBS

Odometer Colour 12795 Marron Black

VIN

SCFECCAD7CGE03067

*Unit Price**

Next Srvc

10/09/2021

Mana	Description	Quantity
III.	Description	

	Control of the Contro			
SUBLETS	Paint new bumper bar cover	1.00	\$1300.00 1/00	\$1300.00
SUBLET	Paint Front Right Fender	1.00	\$1300.00 //00	\$1300.00
SUBLET	Paint Front Bonnet	1.00	\$1900.00 1500	\$1900.00
SUBLET	Paint Front Left Fender	1.00	\$1300.00 X	\$1300.00
SUBLET		1.00	\$1300.00 //99	\$1300.00
SUBLET	Paint Right Door	1.00	\$950.00 700	\$950.00
SUBLET	Paint right sill panel applique	1.00	\$1900.00 /	\$1900.00
SUBLET	Repair - Set up on Global Jig as per factory's instruction		\$1400.00 /200	With the second property of
SUBLET	Repair - Profile new panel to suit	1.00		
SUBLET	Repair - Square up front and trail fit panel	1.00	\$4000.00 3500	
SUBLET	Misc - Flatten back to match factory finish	1.00	\$4000.00 3500	
SUBLET	Misc - Oven allowance primers and sealers	1.00	\$120.00	\$120.00
SUBLET	Misc - Allowance for top coat	1.00	\$240.00	\$240.00
SUBLET	Misc - Alumimum room allowance	1.00	\$1600.00	\$1600.00
SUBLET	Misc - Consumables	1.00	\$300.00 <i>159</i>	\$300.00
SUBLET	Misc - Tyre Approx	1.00	\$800.00 600	\$800.00
SUBLET	Misc - Disinfection allowance	1.00	\$35.00 /	\$35.00
SUBLET	Sublet - Mechanicals (Ergle (Gerhx)	1.00	\$14000.00 /2010	\$14000.00
SUBLET	Sublet - Windscreen	1.00	\$480.00	\$480.00
SUBLET	2 Way Sea Freight shipping Singapore - Melbourne - Melbourne - Singapore including local and overseas transport	1.00	\$17000.00 / (B ¹⁷ 1)	\$17000.00
SUBLET	AC Performance Test and 4 Wheel alignment after repair	1.00	\$500.00 401	\$500.00
ē.			Sublet Total	\$54425.00
LABOUR				
LAB1	Raise & secure	1.00	\$120.00	\$120.00
LAB2	ALL FOUR ROAD WHEELS 4 TIMES	3.00	\$120.00	\$360.00
LAB2	FRONT UNDER TRAY	1.60	\$120.00	\$192.00
LAB2	L/H FRONT GUARD LINER SHELL	1.80	\$120.00	\$216.00
former and	management the extra and a part of the contract of	* **		9 * 90, 600 0 0

		0.80	\$120.00	\$96.00
	TOP RADIATOR COVER	3.00	\$120.00	\$360.00
	L/H HEAD LAMP & AIRBOX ASSM	3.00	\$120.00	\$360.00
, A. v	R/H HEAD LAMP & AIRBOX ASSM	2.00	\$120.00	\$240.00
1	FRONT LOWER CARBON DIFFUSOR	5.50	\$120.00	\$660.00
A = - 5.	FRONT BUMPER BAR & D/A NECC H/WARE	1.20	\$120.00	\$144.00
B 2	FRONT GRILLE SUPPORT FRAME	5.00	\$120.00	\$600.00
AB2	L/H FRONT FENDER & D/A NECC H/WARE R/H FRONT FENDER & D/A NECC H/WARE	5.00	\$120.00	\$600.00
LAB2	BONNET & D/A NECC H/WARE	3.00	\$120.00	\$360.00
LAB2	L/H LOWER MARGIN SEAL	1.50	\$120.00	\$180.00
LAB2	L/H SILL APPLIQUE	3.50	\$120.00	\$420.00
LAB2	R/H LOWER MARGIN SEAL	1.50	\$120.00	\$180.00
LAB2	R/H SILL APPLIQUE	3.50	\$120.00	\$420.00
LAB2	R/H DOOR & D/A NECC H/WARE	7.00	\$120.00	\$840.00
LAB2	L/H REAR GUARD LINER SHELL	1.80	\$120.00	\$216.00
LAB2	REAR UNDER TRAY	1.60	\$120.00	\$192.00
LAB2	CENTER UNDER TRAY FOR JIGGING	1.60	\$120.00	\$192.00
LAB2	R/H REAR GUARD LINER SHELL	1.80	\$120.00	\$216.00
LAB2	UNDER FENDER ECU FOR ACCESS	1.00	\$120.00	\$120.00
LAB2	FRONT BUMPER REO	2.00	\$120.00	\$240.00
LAB2	BONNET LOCK AND CABLE	1.00	\$120.00	\$120.00
LAB2	L/H FRONT CRASH CAN	2.00	\$120.00	\$240.00
LAB2	R/H FRONT CRASH CAN	2.00	\$120.00	\$240.00
LAB2 LAB2	L/H PANEL VENT	1.60	\$120.00	\$192.00
	R/H PANEL VENT	1.60	\$120.00	\$192.00
LAB2	A/C CONDENSOR	3.00	\$120.00	\$360.00
LAB2	RADIATOR AND FAN ASSM	5.50	\$120.00	\$660.00
LAB2	COMPLETE INTERIOR AND DASHBOARD ASSM	63.00	\$120.00	\$7560.00
LAB2	RIFLE ARM	24.00	\$120.00	\$2880.00
LAB2	TOP CROSS MEMBER	6.00	\$120.00	\$720.00
LAB2	TOP CROSS MEMBER BRACKETS	6.00	\$120.00	\$720.00
LAB2	TOP CROSS INICIABLE BRACKETS	- 10% DISCH	Labour Total	\$21744.00
PARTS	CVR ASY FRT BMPR ROW / JR	1.00	\$5820.00	\$5820.00
AM8D3317D957AE		1.00	\$2450.00	\$2450.00
AM8D3317B968AD	FRONT SPLITTER - RH / MIJ	1.00	\$145.00	\$145.00
AM8D3317E810AB	PLATE CVR RH / MIS	1.00	\$1600.00	\$1600.00
AM8D338156AB	MESH LWR FRT GRILL / MIJ		\$52.00	\$52.00
AM4G4317C832BA	CVR FRT BMPR CP FRT 7	1.00		
AMCG4317757BB	ROW BUMPR BM ASY FRT / 00	1.00	\$2590.00	\$2590.00
AMAD43V17N800AC	BMPR FRT CRASH CAN / []	1.00	\$4140.00	\$4140.00
AM4G43043B19AC	TUB PASS AIR BAG INT	1.00	\$72.00	\$72.00
AM8D3313069AB PANEL-HD/LP MNTG LH / \$\int_{\infty}\$		1.00	\$552.00	\$552.00
AM4G436367912AD NUT PLT ASY FRT CRSH / NC		1.00	\$24.00	\$24.00
AM8G432011328	DB9 FRONT END ASSY (Suspession booker) / 13	1.00	\$23925.00	\$23925.0
AM8G43F01990AF	PNL VEN AIR RH / DR	1.00	\$864.00	\$864.0
AM9D338052AA	<u> </u>	1.00	\$479.00	\$479.0
M8G432943751AB	CVR ASY RAD SUPT LWR / / // K	1.00	\$135.00	\$135.0
				\$2425.0
AM8D338136AC GRL ASSY RAD CTR / 00		1.00	\$2425.00	φ242J.0

		- 10 011	7.4.1	\$220634.00
		10	Subtotal 4 GST	\$220634.00 \$0.00
			Parts Total	\$144465.00
AMAG433200BB	Steering Gear Assembly RHD / //	1.00	\$18600.00	\$18600.00
AM8G432011479	MBR FRT CS LAT MNTG	1.00	\$911.00	\$911.00
AM8G4316430AA	REINF HOD STRKR PLT ?	1.00	\$113.00	\$113.0
AM4G432010881	SUPPT ARM-FT WING RH (HEAD by pan) - BT	1.00	\$2119.00	\$2119.0
AMRIVETS	AMRIVETS / NE	1.00	\$430.00	\$430.0
AM704076	ADHESIVE 7222/9323 / Mee	1.00	\$1641.00	\$1641.0
AMBD331007AA	FRT WHL SILVER-20 in / CK	1.00	\$5707.00	\$5707.0
AM4G432B663AD	HB & BRG ASY FRT BRK / /	1.00	\$1062.00	\$1062.0
AM8D333K186AC	KNL ASY-FRT WHL RH (Kml an) / 11	1.00	\$918.00	\$918.0
AM8D333A052AC	ARM & BSHG ASSYRH (IDLE OIL) - BR	1.00	\$1498.00	\$1498.0
AM4G43407A74BB	BADGE ASSY - AML / NC	1.00	\$338.00	\$338.0
A8D338190ADM	PANEL-GRILLE OPENING 1	1.00	\$466.00	\$466.0
AM8D337110041	RAD GRILLE & SUPPT / RR	1.00	\$4239.00	\$ 4239.0
AMBG4313W029AB	HEADLAMP ASSY RH RHD / JR	1.00	\$6284.00	\$6284.0
AM4G438910908PK	O RINGS-RECEIVER(2)	1.00	\$21.00	\$21.0
AM4G438910910PK	O RINGS-CONDENSER(2)	1.00	\$21.00	\$21.0
AMAD4319D719AA	TUBE ASSY 1	1.00	\$327.00	\$327.0
AMAG4319972AA	TUBE ASY-COMP 1	1.00	\$1465.00	\$1465.0
AM9D338W000AA	RAD & COOLER ASY (Rade) ? / IT	1.00	\$6345.00	\$6345.0
M4G439A675BD	DUCT - AIR INTAKE RH / MIL	1.00	\$295.00	\$295.0
#8D339600BA	AIRBOX ASSY RHS / MIJ	1.00	\$1745.00	\$1745.0
#G435E209AD	UNDERTRAY-FRONT / BR	1.00	\$2810.00	\$2810.0
#316C826AB	GAS SPRING ASY X NN	1.00	\$98.00	\$98.0
36410916	HINGE ASSY HOOD RH	1.00	\$147.00	\$147.0
8410917	HINGE ASSY HOOD LH 2	1.00	\$147.00	\$147.
3612AG	HOOD ASY / JK	1.00	\$22066.00	\$22066.

Payment Terms:

C.O.D

Invoice Notes

Accident Repair

· Require to ship from Singapore to Melbourne for Aston Martin Global jig chassis alignment

E&OE

Please note this Quote is valid for 14 days. Prices may be subject to change without notice.

Steve (LKK) 83718813

00- NH Author EXCISS - 1

12/10/19, 12.90 pm

60 days
part by Part
Py Befor spray

Workshop Ship to Authory repair

LKK Auto Consultants hence notify the Repairer of the following:

. To resurvey before/after spray painting

- To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- · No illegal modification(s) is allowed
- · Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

(20083514 / Car City Auto Centre Pte Ltd - HQ AY DATE & TIME: 25/09/2020 11:12 AMITTED BY: Ho Too Boon

SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report correctly the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver.

3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available

ACCIDENT STATEMENT:

Date Of Report

25/09/2020 11:12 24/09/2020 07:25

Date Of Accident

ALONG TPE

Exact Location Of Accident

Country/State of Loss

SINGAPORE

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SMU2922L

Insured/Policyholder

Name Of Registered Owner

ALISTAIR HAMISH DUFF

NRIC No

SXXXX358I

Email Address

ALISTAIRHDUFF@GMAIL.COM

Mobile Phone No

(LOCAL) +65-98871259

Alternative Phone No

OTHERS-98871259

Vehicle Particulars

Manufacturer

ASTON MARTIN

Model

DBS COUPE 6.0L A AREGISTRATION

Exact Purpose for which vehicle was being used at

time of accident

PRIVATE USE

Are you claiming under your own insurance policy

for repair to your vehicle?

YES

If No, Please state action to be taken

Vehicle Category

PRIVATE CAR

Insurance Company

Name of Insurance Company

CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

Type Of Coverage

COMPREHENSIVE

Fleet Policy

NO

Policy Number

DMPCSNW00102512000

Cover Note Number

Driver

Name of Driver

ALISTAIR HAMISH DUFF

NRIC No

SXXXX358I

Date Of Birth

04/03/1970

Occupation

Date Of Driving Pass

INDOOR

Driving Experience

01/10/2012

7 YEARS AND 11 MONTHS

Gender

MALE

Mobile Number

(LOCAL) +65-98871259

Fax Number

Contact Number

OTHERS-98871259

ress

25 SPRINGLEAF LANE

stcode

788070

Was driver an employee of the Insured's Company NO

If No, Relationship of the Driver with the Insured

OWNER

Vehicle Registration Number of Driver's Own

Vehicle

Insurance Company of Driver's Own Vehicle

General Information of the Accident

Type Of Accident

COLLIDED INTO PROPERTY

Weather Conditions

RAINING

Road Surface

WET

Other Information

Was any foreign vehicle involved in this accident?

NO

Number of vehicles (including own vehicle)

involved in the accident

Was any body injured in the Accident?

NO

Was any injured conveyed to hospital by

ambulance?

Was any other material or property damaged?

YES

I have been approached by unknown person(s) soliciting/offering accident claims assistance.

NO

Number of Passengers (Including Driver)

Details of Police Action

Was the accident reported to the police?

YES

If Yes, Please state which Police Station

Police Station Name

TRAFFIC POLICE HEADQUARTERS

Police Station Address

ROAD: 10 UBI AVENUE 3 SINGAPORE, POSTCODE: 408865,

COUNTRY: SINGAPORE

Police Station Contact

TEL NO: - FAX NO:

Was notice of intended Prosecution given?

NO

If Yes, against whom?

Circumstances of Accident

AS PER ATTACHED POLICE REPORT NO: T/20200924/7006 DATED 24/09/2020@10.26

Attachment(s)

Are accident photos available for attachment?

YES

Was there any video captured by Car Camera?

NO

Was there any audio recorded?

NO

HOETAILS OF OTHER VEHICLE PROPERTY 111

Vehicle Registration Number

RAILING

Vehicle Make/Model/Colour

Details Of Properties

Vehicle Category

MOBILE EQUIPMENT

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Incurance Company Name

(Passenger (Including Driver)

. SKETCH PLAN

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by
- 7. By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this (form) and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of:
 - (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
 - (ii) investigating the accident and/or my claims;
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents(including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, (d) investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
 - (i) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or

(ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature

Date & Time:

Driver's Signature

(If driver is not the policyholder)

Date & Time:

2 TH Sep 2000:

10.000

Reporting Centre Personnel's Signature

Name:

NRIC/FIN No .:

0055B.

SKETCH PLAN DECLARATION I/We declare the foregoing particulars are true in every respect.

Policyholder's Signature

Date & Time:

GIARMC SketchPlanForm_V3

Driver's Signature

(If driver is not the policyholder)

Date & Time: 25 See 200

Reporting Centre Personnel's Signature

NRIC/FIN No .:

POLICE REPORT PAGE 1/3 Pg. 1





1 of 3 Report No. T/20200924/7006

Police Station Of Origin: Traffic Police 10 Ubi Avenue 3 SINGAPORE 408865 Tel No: 65470000

REPORT C	OF A TRAFFIC	- Single			
Date/Time Report Made: 24/09/2020 10:26		lade:	Vide Report No.: G/20200924/0061	Station Diary No.	
Informa	nt's Particu	ulars			
	Informant: R HAMISH		Address: 25 SPRINGLEAF LANE SING	APORE 788070	
ID Type / ID No.: NRIC NO / \$7066358I		581	Contact No.: Home/Office:	Mobile: 98871259	
Nationality: BRITISH			Email: alistairhduff@gmail.com		
Sex: Age: Date of Birth:		Date of Birth: 04/03/1970	Type of Informant: Driver		
Race: Caucasian			Language: English	Institution / School Name:	
Occupation: Other finance dealers and brokers		rs and brokers	Driving Licence Information: Class:	Date of Expiry:	

	Non-Injury	Drink	Date/Time of	Type of Location Bend	
Type of Accident:	of Attended by Police Di		Accident: 24/09/2020 07:25	Berid	
Location:					
TAMPINES E	XPRESSWAY		2 E	10 11 : 14	
Weather:	VI	Road Surface: Wet	6	load Speed Limit: 0 Km/h	
Traffic Flow:	raffic Flow: Traffic Control:			raffic Volume: leavy	
Dual Carriage Type of Collisi Moving Vehicle			а	Inyone conveyed by Imbulance:	

Details of Volume Vehicle No.	Type	Make	Model	Color	Conditio	No of
SMU2922L	Car	ASTON MARTIN	DBS COUPE 6.0L AUTO ABS D/AB HID 2WD 2DR	Black		0

Details of V	ehicle Insurance			
		Insurance No	Effective	Expiry Date
Vehicle No. Insurance Company	W.CO.			

POLICE REPORT PAGE 2/3 Pg. 1





police Station Of Origin: Traffic Police 10 Ubi Avenue 3 SINGAPORE 408865 Tel No: 65470000

2 of 3 Report No. T/20200924/7006

CONTINUATION OF REPORT

Details of Veh	nicle Insurance					
Vehicle No.	Insurance Company	Insurance	e No	Effective	Expiry Date	
SMU2922L	CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.	DMPCSNW001025 12000		07/08/2020	14/09/2021	
Details of Per						
Any Pedestria	n Involved: No		L Mine Con	seing: NA		
No. of Pedestr	rians Injured: NIL	Use of Ped	destrian Cro	issing. WA		
Driver			ID No.	S7066358	1	
Name ALISTAIR HAMISH DUFF			ID NO.	0,000		
Datata d Vahin	le SMU2922L (Car)		Contact N	0. 98871259		
Related Vehic	SM029222 (00.)			Class: NII		
Hospital/Clinic	NIL		Class of Driving Licence & Expiry	Date of E	xpiry: NIL	
	NIL	Date	N	-		
Date	I IVIL	Degree of		L		

No. of Days granted Medical Leave

Coming onto dual carriage way TPE heading west towards my home in Springleaf, moving to right lane from middle, think hit puddle and car swerved and hit into railing. No other cars involved. A few. seconds later, I guess 20 seconds or so a motorbike must have breaked when they saw my car and the driver and passenger fell off with no major injuries. They must have fell off about 30 meters behind my car.

NIL

Degree of

The section of TPE where this happened was in between Dunman Secondary school and White sands primary school

POLICE REPORT PAGE 3/3 Pg. 1



SINGAPORE POLICE FORCE

T/20200924/7006

police Station Of Origin: Traffic Police 10 Ubi Avenue 3 SINGAPORE 408865 Tel No: 65470000

3 of 3 Report No. T/20200924/7006

CONTINUATION OF REPORT

Sketch Plan Informant is not able to provide sketch

Authentication Stamp

NP168

Signature Of Officer Recording The Report: Not applicable	Signature Of Informant: The identity of the person making this report has been authenticated by SingPass. No signature is required.
Signature Of Interpreter: Not applicable	Date/Time: 24/09/2020 10:26
Officer In Charge Of Case: TP / TPIB / MUHAMMAD ZICKIE BIN AHMAD SUYUTI Contact No.: 65476356	Classification Of Case:

CERTIFICATE OF INSURANCE Pg. 1



中国太平保险(新加坡)有限公司

CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

Motor Private Car

MX 1/B

AN0628A

Motor Vehicles (Third Party Risks and Congressation) Act (Chapter 189)
Motor Vehicles (Third Party Risks and Congressation) Actes, 1990
Road Transport Act, 1997 (Mataysta)
Motor Vehicles (Third Party Risks) Rules, 1959 (Mataysta)

CERTIFICATE OF INSURANCE

Cov Type C

CERTIFICATE No.

DMPCSNW00102512000

Engine No : AM08/32292

Cha. No :SCFECCAD7CGE03067

1. Index Mark and Registration

SMU2922L

2. Name of Policy Holder

ALISTAIR HAMISH DUFF

Excess Sect I .

5\$18,000 00

Effective date of the Commencement of Insurance for the purposes of the Regulations, Ordinance or Enactment

07/08/2020 (11:41:53)

Excess Sect. I (Outside Singapore)

\$\$36,000.00

4. Date of Expiry of Insurance

14/09/2021

EX ON WINDSCREEN .

5\$1 000 00

Persons or Classes of Persons entitled to drive*

As per Named Driver(s) stated below.

Provided that the person driving is permitted in accordance with the licensing or other laws or regulations to drive the Motor Vehicle or has been so permitted and is not disqualified by order of a Court of Law or by reason of any enactment or regulation in that behalf from driving the Motor

ALISTAIR HAMISH DUFF

Use for social, domestic and pleasure purposes and for the Policyholder's business.

The Policy does not cover use for hire or reward tuition driving test racing pace-making, reliability trial, speed-testing, the camage of goods other than samples in connection with any trade or business or use for any purpose in connection with the Motor Trade.

HIRE PURCHASE CO.: DBS BANK LTD AS HP OWNER

*Limitations rendered inoperative by Section 8 of the Motor Vehicles (Third-Party Risks and Compensation) Act (Chapter 189) and Section 95 of the Road Transport Act 1987 (Malaysia), are not to be included under these headings.

I/We hereby Certify that the policy to which this Certificate relates is issued in accordance with the provisions of the Motor Vehicles (Third-Party Risks and Compensation) Act (Chapter 189) and Part IV of the Road Transport Act, 1987 (Malaysia).

Please see reverse

For CHINA TAIPING INSURANCE (SINGAPORE) PTE. LTD.

Issued By: Irene Hor **Authorised Officer**

Authorised Signatory

China Taiping Insurance (Singapore) Pte. Ltd. (Co. Reg. No. 200208384E) 3 Anson Road #16-00 Springleaf Tower Singapore 079909

Q63896111

6222 1033

www.sg.cntaiping.com





